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Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 2x10=20
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a)  What in financial management?

ERICICEINEERIR R (Gl

b)  What do you mean by Secondary markets?
¢Sl QeI FICE T 2

c)  What do you mean by theory of Equity culture?
&R Ticgiod wg e

d) What is Debentures or Bonds ?
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[Turn over]

e) What do you mean by CFS ?
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f)  What is 'script dividend'?
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g) What do you mean by 'Arbitrage Process?
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h) Differentiate between'Financial Structure' and
'Capital Structure'.
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1)  What is financial leverage?
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j)  What do you mean by Corporate finance ?
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k)  Define Derivative market.
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1)  Define spot rates and forward rates.
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Answer any four questions: 5%x4=20
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How are redeemable and irredeemable

preference shares valued ?
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b)

d)
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Under what circumstances may NPV and IRR
give conflicting recommendations? Which
criteria should be followed in such

circumstances and why?
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What is standard deviation of returns? Explain

it through a suitable example.
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A company's current price of share is Rs.60 and
dividend per share is Rs.4. If its capitalization

rate is 12%, what is the dividend growth rate?
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Do betas remain stable over time? what problem
is posed by the stability of the beta?
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Explain put call parity. How do you calculate it?
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Answer any two questions:

Explain the patterns of corporate financing.
S EACRIRICERIBRITIE ISR cIl
10x2=20

@I 7S 2ra Ted M6 2

3.
a)
b)
c)
d)
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Explain the Crux of Miller-Modigliani (mm's)

argument about dividend irrelevance.
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What is the difference between the cost of
equity. Dividend growth model and the CAPM
which method is better?
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What is meant by share split? What are the
reasons for share split? What is the difference
between share split and bonus share?
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Describe single period and multiple period of

valuation of shares.
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